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I'pynna A (na «3»)

sin3x+cos3x =0
sinx++/3cosx=0
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sn| x+— |+cos| x+— |=0
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2sinx+3cosx=0
sinﬁ—cosﬁ=0
2 2
3sinx—-5cosx=0
J3sinx =-cosx

X X
sin—-cos—=0
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0. sin(g—xj+23inxzo

10. sinx = —v/3cosx
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I'pynna B (na «4»)

3sin®x—-5sinxcosx—-8cos’ x =0
3sin*~sinxcosx—4cos*x =0
3sin? Xx+sSiNXcosx = 2cos’ X

sSin Xcosx + 2sin? X = cos® X
3sin*x—4sinxcosx+cos’ x=0
6sin® x—5sin xcosx+cos*x =0
3sin? X = 2c0sXsin X + cos’ X

sin? x —2cosxsin x = 3cos’ X
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4sin®x—-5cosxsinx+cos’x=0

10. 7sin’x+sin2x-5cos’ x=0
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I'pynna C (na «5»)

3sin® x—5sinxcosx +8cos” = 2
2sinxcosx+5cos’ x = 4

6Sin® X—sin Xcosx—cos” X =3
sin® Xx—7siNXcosx +2cos’ X = —2
5sin® x+2sin xcosx—cos” x =1
sin® x—9sin xcosx+3cos’ x = -1
3sin® x—4sin Xxcosx+5cos’ x = 2
2sinxcosx +5c0s° X = 4

58in? X —2SiN XCOSX + Cos” X = 4

10. 3sin® x—5sin xcosx+8cos® x = 2



